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le peann 

with pen

with a pen

 leis a’ pheann 

 with.def the pen 

dha thaigh 

to.3sm.poss house

to his house

Note: Adger glossed as “to a house”,  We have corrected gloss and translation

gu taigh

to house

“to a house”

Note: AZSGP produced this for the prompt ‘to a house”

do taigh

to house

“to a house”

Note: AZSGP produced this for the prompt ‘to a house”

dhan an taigh 

to.def the house

To the house

ri Dàibhidh

to David

to David

Note: Removed lenition from David. Adger had Dhàibhidh

*ris Dàibhidh

to.def David

to David

Note: Removed lenition from David. Adger had Dhàibhidh

ri seo

to this

to this

*ris seo

to.def this

to this

ri mo bhràthair

to 1s.poss brother

to my brother

*ris mo bhràthair

to.def 1s.poss brother

to my brother

ri àite mo ghaoil 

to  place of 1s.poss love

to the place of my love

Note: AZSGP speaker finds odd, she would prefer it with gu or do instead of ri

*ris àite mo ghaoil 

to.def place 1s.poss love

to the place of my love

Dh’fheuch mi ri teine a chur air dòigh 

Try.past 1s to fire tran put.vn on well 

'I tried to set a fire up'

Note: prepositional definiteness agreement takes place even when the following DP is not a complement of the preposition but is more deeply embedded.
Dh’fheuch mi ris an teine a chur air dòigh

Try.past 1s to.def the fire tran put.vn on well 

'I tried to set the fire up'

Note: prepositional definiteness agreement takes place even when the following DP is not a complement of the preposition but is more deeply embedded.
Dh’fheuch e ri eadhon a’ bhan-rìgh a mharbhadh 

Try.past 3sm to even the queen tran kill.vn 

'He tried to kill even the QUEEN.' OR 'He tried even to KILL the queen'

Note: it is possible to let adjoin the focus particle eadhon to DPs or the VN constituent, leading to ambiguous sentence

Note: Corrected gender and article on “the queen”, Adger had “am ban-righ”.
*Dh’fheuch e ris eadhon a’ bhan-rìgh a mharbhadh 

Try.past 3sm to.def even the queen tran kill.vn 

'He tried to kill even the QUEEN.' OR 'He tried even to KILL the queen'

Note: Corrected gender and article on “the queen”, Adger had “am ban-righ”.
Dh’fheuch e ri fiùs a’ bhan-rìgh a mharbhadh 

Try.past 3sm to even the queen tran kill.vn 

'He tried to kill even the QUEEN.' OR 'He tried even to KILL the queen'

Note: This is the alternative produced by AZSGP speaker in favor of Dh’fheuch e ri eadhon a’ bhan-rìgh a mharbhadh 

.

Dh’fheuch e fiùs ris a’ bhan-rìgh a mharbhadh 

Try.past 3sm to even the queen tran kill.vn 

'He tried to kill even the QUEEN.' OR 'He tried even to KILL the queen'

Note: This is the alternative produced by AZSGP speaker in favor of Dh’fheuch e ri eadhon a’ bhan-rìgh a mharbhadh 

’S e an duine a bha an seo an-dè a dh’fheuch mi ri mharbhadh 

Cop.pres 3sm the man wh-C be.pres here yesterday  wh-C try.past 1s to kill.vn 

'It was the man that was here yesterday that I tried to kill.'

Note: movement of definite DP affects appearance of definiteness agreement on the preposition
*’S e an duine a bha an seo an-dè a dh’fheuch mi ris mharbhadh 

Cop.pres 3sm the man wh-C be.past here yesterday wh-C try.past 1s to.def kill.vn 

'It was the man that was here yesterday that I tried to kill.'

Note: movement of definite DP affects appearance of definiteness agreement on the preposition.
Bhuail Dàibhidh an cat 

Strike.past David the cat 

'David hit the cat'

Note: SG is a VSO language with V raising in finite clauses to topmost functional projection below C
Bha Dàibhidh a’ bualadh a’ chait

Be.past David prog strike.vn the cat.gen 

'David was hitting the cat'

Note: SVO order is found when T is occupied by an aux or is non-finite, the object is in genitive case in this kind of construction
Feumaidh Dàibhidh an leabhar a sgrìobhadh

Must.pres David the book tran write.vn 

'David must write the book'

Note: inverted object
Bhuail iad an cat

Strike.past 3p the cat

'They hit the cat'

Chunnaic mi iad a’ bualadh a’ chait

Saw.past 1s 3p prog strike.vn the cat.gen 

'I saw them striking the cat'

Note: subject of a finite clause appears preverbally in corresponding non-finite clause; compliment may appear post-verbally in the corresponding non-finite, depending on construction
[Mu dheireidh], rainig sinn an sin

[At last] arrive.past we there

'We arrived there at last'

Note: adverbials are not restricted to right-adjoin to projections
Note: corrected verb form

Dh’fhàg Dàibhidh, tha mi cinnteach, an dè 

left.past David, be.pres 1s sure, yesterday 

'David, I’m sure, left yesterday'

Note: parenthetical expression
*Dh’fhàg, tha mi cinnteach, Dàibhidh an dè 

left.past, be.pres 1s sure, David yesterday

'David, I’m sure, left yesterday'

Note: parentheticals cannot intervene between finite verb and subject
Sgrìobhainn an leabhar 

Write.cond.1s the book 

'I would write the book'

Note: strong agreement cannot occur with an independent pronominal]

Note: Pro-drop

Sgrìobhamaid an leabhar 

Write.cond.1p the book 

"We would write the book"

Note: strong agreement cannot occur with an independent pronominal

Note: Pro-drop
Sgrìobhadh tu an leabhar 

Write.cond 2s the book

'You would write the book'

Note: independent pronominal does not occur with strong agreement

Note: Tu is used instead of thu after the conditional and the relative future.
Sgrìobhadh e/i/sibh/iad an leabhar 

Write.cond 3sm/3sf/2p/ 3p the book 

'He/she/you/they would write the book'

Note: independent pronominal does not occur with strong agreement
Note: Adger included sinn in this list, this is incorrect.

*Sgrìobhainn mi an leabhar 

Write.cond.1s 1s the book 

'I would write the book'

Note: strong form occurring with independent pronoun causes theta-criterion violation]

*Sgrìobhamaid sinn an leabhar 

Write.cond.1p 1p the book 

"We would write the book"

Note: strong form occurring with independent pronoun causes theta-criterion violation
Sgrìobhainn fhìn is thu-fhèin an leobhar seo 

Write.cond.1s emph and 2s.emph the book this 

“You and I would write this book”

Note: coordinated pronouns must be augmented in all contexts with an emphatic marker fhìn/fhèin
Feumaidh mi na leabhraichean a sgrìobhadh

Must.pres 1s the books tran write.vn 

'I must write the books'

Note: fronted object in non-finite clause; preverbal object followed by agreement particle
Feumaidh mi an sgrìobhadh 

Must.pres 1s 3p.poss write.vn        

'I must write them'

Note: null pronominal object with strong form inflecting for person, number, gender
's e na leabhraichean sin nach feumaidh sinn an leughadh 

Cop.pres 3s the.pl books dist neg-C must we 3p.poss read 

'It’s these books that we must not read'

Note: cleft object leaves strong object resumptive
Note: AZSGP speaker doesn’t like this sentence and prefers “'s e na leabhraichean sin nach feum sinn a leughadh”
's e iadsan nach feumaidh sinn an leughadh 

Cop.pres 3sm 3p.emph neg-C must 1p 3p.poss read 

'It’s them that we must not read'

Note: cleft object leaves strong agreement
Note: AZSGP speaker doesn’t like this sentence and prefers “'s e iadsan nach feum sinn a leughadh”
'b e mise a thubhairt thu a sgriobhadh an leabhar 

Cleft.past 1s.emph that said you write.cond the book

'It was me that you said would write the book'

[cleft subject leaves weak agreement]

*'b e mise a thubhairt thu a sgrìobhinn an leabhar 

Cleft.past 1s.emph that said you that write.cond-1s the book

'It was me that you said would write the book'

[cleft subject cannot leave strong agreement]

